CE6361 Groundwater Hydrology , HW#, Fall 1996 Due: Q/Z 3/4 &

l)whedsmmmdﬁmﬂnmouslyinthimmﬂsﬁemnﬁngmmic
confined aquifer of thickness B=50 meters, hydraulic conductivity K = 20 meters/day, and
effective porosity of n=0.23. -

Well 1 2 3 4 L] 6 ? 8 9 10 11 12 13

X 4.3 165 7.0 3.0 11.0 22.0 8,0 3.2 18.1 13.5 4.0 8.7 19.5

y 1.0 35 51 65 7.0 65 9.0 11.8 10.0 12.9 15.5 16.1 16.3

R 34.6 35.1 32.8 32.1 31.5 34.5 33.3 34.4 34.3 35.2 35.2 37.3 36.3

Each x,y coordinate unit = 200 meters

o) ;. ¥ Draw a contour map of the head distribution (1 meter contour intervals) and the
flowlines. (vou may use A SOFTWARE TDOL IF Cou w\so-\)

-+ Usingel
A(10,4) and B(l%,nlpl’).

mi ﬂxespeciﬁcdischarge(direcﬁonandmagnimde)atpoims

B -

C) . * Estimate the total flow through the aquifer between wells No. 10 and No. 9.

Q) Estimate the time of travel for a pollutant introduced

: into the aquifer in the vicinity of
well No. 12 to reach a pumping well near well No. §.



- @R (SO‘TOP‘C ’ COV\FINJ Gu?wipa— . HW =Y 77}
B=5O0Om | |
k= 20m /Aoy
N 0.23

(S
s
4 t :-.
&
£

»
el
o

8

S

8

- ’ J ! '
! begiru i 1200 14.00 16.00 18.00 22.00

\ Um‘g' 200m = \O"
W k Yigese



.‘b)geﬂa \C C&(SJ\M ) 12 Al 3/
o Aled) & B(«,) | ‘ 3

AL
o= 22 (o) =m@;&]

- Om
e 2 (- pom /iy 0]

&\rec\icms as Slwwn o Covitaun W

¢) b bl fow bohven velle 49 ¢ 4o
= kbw %L: |

=22 b:=som

8~(22Y o) osomN S

{Q‘“" (@00 WLB/c(eu(

3) dine of Aravel from ol o vl S

.k Ak N »
Vv n I é—k‘}: 0.003 WPM
vr 22y (oo03) V= 0.26m{d
/9SO
,SDM L= 1960m
_t’ \4 B 026«;./&,,,7 = 7S'DOA¢75 - ZO:S )lrs ;_tl




